Fill in the blanks with the correct fractions and numbers.

10 is of 40 .

| know this because can be splitinto

of is of the total number

8 is of 48 .

| know this because can be splitinto

of is of the total number

12 is of _36 .

| know this because can be splitinto
of is of the total number

25 is of 125 .

| know this because can be splitinto

of is of the total number

4 is of 28 .

| know this because can be splitinto

of is of the total number

30 is of 60 .

| know this because can be splitinto

of is of the total number

groups of

groups of

groups of

groups of

groups of

groups of

, S0 each group

, SO each group

, S0 each group

, So each group

, So each group

, SO each group



7 is_1/5 of

| know this because can be splitinto
of is of the total number
5 is % of
| know this because can be splitinto
of is of the total number
11 is _1/3 of
| know this because can be splitinto
of is of the total number
is 1/8 of 56 .
| know this because can be splitinto
of is of the total number
is_1/5 of 30 .
| know this because can be splitinto
of is of the total number
is 1/3 of 120 .
| know this because can be splitinto

of is of the total number

groups of

groups of

groups of

groups of

groups of

groups of

, S0 each group

, SO each group

, S0 each group

, So each group

, SO each group

, SO each group



